b2

1.

The number of revolutions a wheel of
28 cms diameter make in travelling a

7 f _ 22
distance of 880 cms is (n = A)
(A) 100 (B) 10

(C) 24 (D) 50
(E) Not attempted

[=] E“b
o
The HCF of 16 and 24 is / ‘Y/
(A) 4 (B) 2
(C) 8 (D) 16,(¢° /
E) Not attempted
(E) pte \ p \Jf

Which is the first state of India to introduce

VAT (Value Added Tax) ?
(A) Uttar Pradesh i\

(B) Madhya Pradesh

(D) Rajasthan (]

(E) Not attempted l@

The scientific name of National Flower of
India is

(A) Nelumbo Nucifera Gaerin

(B) Jasminum

(C) Oryza sativa

(D) None of the above
(E) Not attempted

et )

(C) Haryana

How many athletes from Haryana are
participating in the Paris Olympics 2024 ?

0
(A) 19 N 0
(C) 16 U //10
(D) 29 W

(E) Not attempted

CSM - 24
(hs@ﬁa&mm@qﬁmaso@tﬁﬁ
/@mmﬁmﬁwm% ?

(“:227)
(A) 100 (B) 10
(C) 24 (D) 50
(E) TSR

2 716 3T 24 T HETH GHTTEIS @
(A) 4 (B) 2
(C) 8 (D) 16
(E) Irganted

/3./ wd § e (Y Fffd ) A FE el
e TSI HH-|1 8 ?
(A) I TA
(B) HEd WeHl
(C) sf@mm
(D) TeEU™
(E) Téd

/" A % TSR %A 1 ST-eh ATH 1R ?
(A) T RRT T

(B) Iferg

(C) 3T arfaar

(D) U4 H | IS T

(E) 3Ty

ufw 3fieifuess 2024 § wfwmon @ frad
WA M A @8 ?




6.

OIS S

}/}9.

©
(A) GNMIl4 90 -2 | 9 18
(B) GNMIJ - |§ — 1T 7 '
| 2
(C) SMNJI + I - & !
" J,q -3 1t 10
O MWy 1y -157 g o
(E) Not attempted 8
- 4y -15
Which kind of output device converts
digital information into a physical
(hard copy) form ?
(A) Monitor
(B) Printer t«r‘ﬂ’nfig
(C) Scanner ElEEE (

Value that appears most number of times

in the given data of an attrlbute/varlab|e is
called

(A) Mode

(B) Median

(C) Mean

(D) None of the above

(E) Not attempted

In a certain code language, SIKKIM is
written as THLJJL. How is TRAINING
written in that code language ?

(A) SQBHOHOH (B) UQBJOHOH

(C) UQBJOHHO (D) UQBHOHOF
(E) Not attempted

If in a certain code language, NIGHT is
written as REKDX, then how will CRIME
be written in that language ?

(D) Keyboard
(E) Not attempted

&

CSM - 24

6. Tt ufgere /aftwaa # & 7 2 4
e 3ifues 9 e B9 O am
1 el AT B 7
(A) T
R uezea
(C)m"u‘q
(D) 39dd | T P13 TRl
(E) 3ToRfEd
T LT

//QEE fafoaa she 9T ° SIKKIM &1 THLJJL
foma < 2 | 3 e 9T # TRAINING

!y for@m ?

(A) SQBHOHOH

(C) UQBJOHHO
(E) Iroferd

/a/zr&@ag 9191 # NIGHT %1 REKDX
foran st 2, o1 3H w91 § CRIME I
FY foran s ?

@r‘r"
EEPE

(B) UQBJOHOH
(D) UQBHOHOF

/_WM

(A) GNMII mh=Ly g
(B) GNMIJ | -9 //E_—:f
(C) SMNJI & -7 /;ﬁ
(D) SMNJJ ﬁ }O{ﬂu?
(E) 3Tufaa J

)./ﬁmfa TR 1 3TITYE f%?ﬂsa feforea

Wlﬁﬁﬁﬁﬁm(méwvﬁ)é;mﬁ
yfafda st g 7

(A) AT 2 9 =

(B) Piex T I
y  (C) TR 9 fo = i)

(D) Hre 5, /

(E) STt > 9 -/

//

Z 0 A

1Y i

A A

g )




10. Where was the 14" All India Police
Commando Competition organised ?

(A) Kerala
(B) Guijarat
(C) Madhya Pradesh
(D) Andhra Pradesh
(E) Not attempted
11.  Where was the world’s first portable
hospital unveiled ?

(A) Gurugram

(B) Ranchi

(C) Patna

(D) None of the above

(E) Not attempted ez
o oido

12. The value of 9°+(9)° is
(A) 9 (B) 99
(C) 11 (D) 10

(E) Not attempted

13. Who invented the concept of the stored
program computer ?

(A) Alan Turing

o
(B) Charles Babbage C’
(C) John Von Neumann

(D) Blaize Pascal

(E) Not attempted

14. McMabhon line is a borderline between
India and
(A) China
(B) Bangladesh
(C): pakistan
(D) None of the above
(E) Not attempted

CSM-24

14/ Tehmite Y wid iR fresh o o g
i e

(A) <=

(B) STaTey

(C) uTfeream

(D) 3w & § =18 7
(E) g




15.

16.

17.

18.

19.

CSM - 24

Which of the following is not administrative frfafad 9 8 sE-a a?h'l'vl T g
division of Haryana State at present ? LUSS W ST HUed TE 2 7
(A) Ambala (B) Sirsa (A) Sl (B) focan
(C) Hisar (D) Rohtak (C) feam (D) Uz
(E) Not attempted (E) 3mrafed

The value of 22 + 10%is %Wszﬂm%

(A) 1080 (B) 38 (A) 1080 (B) 38

(C) 1008 (D) 1800 (C) 1008 (D) 1800

(E) Not attempted (E) Jrwaierd

One ampere is equal to 177 @ IR *F T 2 |
(A) One coulomb per second (A) T W ufd as P
(B) One volt per second (B) Ueh dice afd dhe

(C) One joule per coulomb i‘;gf;;[:ﬂ (C) Th [ gfa EGE

(D) One second per coulomb charge EEFE (D) Tk dehe uid HEd A&

(E) Not attempted (E) 3Tt

ll;\ Lr;?;i,r:;/eedrygxear National Sports Day /8/;11; g S?[ﬁf EL Tl?fl'i’_@ hd HATIT
(A) 17 August > (A) 17 3T

(B) 29 August \o K\ KO (B) 29 31T

(C) 22 March |>O ) 22w

(D) None of the abov (D) ITd&d | A HIS T

(E) Not attempted (E) 3r9niyd

Metallic oxides are said to be @ ! el 7T B

(A) Neutral oxides (A) ﬁf@m HAlFaTES

(B) Acidic oxides (B) 3T=<ig ItiagEe
(C) Basic oxides !w:r[? (C) &1 3TTeaTsS
(D) None of the above EEEE (D) I9Fd T ¥ *E T
(E) Not attempted (E) 3ro=nfia




20.

21.

Aw wa /25\ ?
5 12 8 15 7 24 9 40

22,

23.

Incubation period of duck eggs in days is

(A) 21

(B) 28
(C) 30
(D) 18 @,{E
(E) Not attempted oD

Which number will come in the place of
question mark ?

(A) 41

1
(B) 45 A
(C) 50 -
(D) 52

(E) Not attempted

The decomposition of vegetable matter
into compost is an example of
reaction.

(A) Calcination
(C) Endothermic
(E) Not attempted

(B) Exothermic
(D) Burning

CSM -24

/@ ¥ TSl B SR F e e
1 211 8 7
(A) 21
(B) 28
(C) 30
(D) 18
(E) 3mraferd

%ﬂﬁa%mmzﬁq—?ﬁé@m

mrft 7 ,
13 @@ 25m?

VANWANIPAN

5 12 8 15 7 24 9 40

(E) arsremivg
If the average age of 3 girlsin a family is 23 9fe T iEy ¥ 3 et
4 years, then the sum of their ages is ,,/4375 2, T ey 3“3 Rl T:: aﬂg;: 3':@
’ TR 7
(A) 4 years (B) 12 years (A) 498 (B) 1279
(C) 9 years (D) 7years (C) 9ay (D) 74
(E) Not attempted (B) 3arfyg

5
w2,

Yo 3 AY fﬂ

3




24. Where was the 26™ Al India Forest
Sports Meet held in Haryana?

(A) Rewari (B) Panchkula
(C) Sirsa (D) Palwal
(E) Not attempted

25. At which southern point of peninsular
plateau, Western Ghats and Eastern
Ghats meet ?

(A) Cardamom hills
(B) Nilgiri hills

(C) Mudumalai hills
(D) None of the above
(E) Not attempted

26. Which of the following district is known as
Paris of Haryana State ?

(A) Karnal (B) Panipat
(C) Gurgaon (D) Rohtak
(E) Not attempted

27. In arow of trees, one tree is 7" from either
end of the row. The number of trees in the |,
row is EiE
(A) 15 (B) 14 -:t.,:*uh
(C) 13 (D) 12 P e
(E) Not attempted

28. White Silver Chlorideturnsto in
sunlight.

(A) Grey
(B) Yellow
(C) Red

(D) None of the above
(E) Not attempted

CSM - 24

Wﬁzeﬁmwm@a

yfenfirar el i T ?
(A) WEl (B) T
(C) Toeam DRSES
E) 3TRnfd

26. Fr=fafiga 3 @ fora et =1 gfEmm o7
<1 YTt gl ST 8 7

(A) UM (B) arHIgd

(C) T (D) q&eh

(E) STyt

gt i e fi # T g i b

BRA 7 9 TyA W R | UfF § U9 Al

e feafi @ 7

(A) 15 (B) 14

(C) 13 (D) 12

(E)

mmtﬁf%mﬁ

ngﬁ;

)%T(ﬁ)

(B)‘ﬂ?ﬂ

(C) &

(D) IR | | g T

(E) 3To=féa




29,

30.

31.

32.

33.

Who is the father of Indian
Psychoanalysis ?

(A) Sudhir Kakar (B) Suman Ranganath
(C) Suhas Mishra (D) Shamanth Singh
(E) Not attempted

1;1he Supreme Court of India comprises
the

(A) Chief Justice and 28 other Judges
(B) Chief Justice and 33 other Judges
(C) Chief Justice and 34 other Judges

(D) Chief Justice and 30 other Judges
(E) Not attempted

In which district of Haryana is the Badkhal
Lake situated ?

(A) Hisar
(C) Sirsa
(E) Not attempted

(B) Jind
(D) Faridabad

Where is Indian Institute of Horticultural
Research located ?

(A) New Delhi

(B) Bengaluru

(C) Lucknow E{gﬁ
(D) Hyderabad Dby

(E) Not attempted

Complete the following analogy.
Moon : Satellite : : Earth : ?

(A) Sun

(B) Planet

(C) Solar system

(D) None of the above

(E) Not attempted

29/ AT TGPV % S B § 7

(A) gt FFFE  (B) A THI™
C) gem e (D) ¥ firg
(E) A5

W % Teted e § ke @

né:

R

(B
3- B () & R 3R 34 3= =
(

(E) Avanfr

gﬁam%%ﬂﬁiéﬁawasﬂa
e e
(A) TEEm
(C) Teram
(E) Tw=nfd

e

(B) ffg
(D) wiigrETg

32,/ ATl T STEYH TR et
®md e
(A) 7% feweht
(B) STeLT
(C) &S

(D) wetrTg

(A) A =R 3R 28 =1 =ArAedy
) T AT 3R 33 3= =iy

D) 4& =rmndisr 3iR 30 3= =ramefis



g

34.

35.

36.

37.

38.

Which of the following component is
found in xylem tissue ?

(A) Sieve tubes

(B) Phloem fibers
(C) Tracheids

(D) Companion cells

(E) Not attempted

3 6 7 )
If ——— = —, then the value of x is
4 x X
(A) 16 (B) 12
(C) 14 (D) None of these

(E) Not attempted

In India, every year National Girl Child 6

Day is celebrated on
(A) 24 January
(B) 16 January
(C) 14 January
(D) None of the above
(E) Not attempted

ElEE
;,__%l ' '.K.
E Tanl

What is the ancient name of the
Markanda river of Haryana ?

(A) Aruna (B) Meeru
(C) Manasa (D) Malaya
(E) Not attempted

Yamuna River enters Haryana from the
district of

(A) Ambala (B) Sirsa
(C) Yamunanagar (D) Bhiwani
(E) Not attempted

D

CSM -24

34/ ™ Hdsk H FEfefiiad § & |-
e I Wl 8 7

(A) Bt (faa) Aferernd

Bt () drem
(D) HE HIRTHT
(E) 3msrafard
/3-E=7%,?hxwm%
4 x X
(A) 16 (B) 12
(©) 14 (D) $TH ¥ IS &
(E) ITormtéd
36, vrd ¥ gfa a9 usdia anferhl fgad e
R I 2 7 s 7
(A) 245l TN o
_AB) 16 ;/ 2 1Y ¥
/C) 14 S Y
() g & B Ll%f;

< T s § firg R @
iy
(A) 3F=TeT (B) faan
(C) TR (D) forarft
(E) ST




o CSM - 24

39. In which of the following year was the TeATeHeh T e (if;ﬁaﬁ@ )
UNESCO Creative Cities Network ﬁ ESIEE] ﬁwzﬁ%rftaﬁ T q ford
(UCCN) established ? s ot 7
(A) 1998 (B) 2015 (A) 1998 (B) 2015
(C) 2010 (D) 2004 (C) 2010 (D) 2004
(E) Not attempted (E) STwantad
40. What does loT stand for ? "\ |oT T Waed T & 7
(A) Internet of Technology /(A) e ACILCEISIN]
(B) Internet of Things (B) 3 3ATH firg
(C) Internet of Tools (C) TR 3® T8
(D) Internet of Transfers D) 3T 3H EHY
(E) Not attempted (E) 3T
41. Which letter will come in the place of %ﬂ % & =M W H-91 8- 3R/ 7
question mark ? -
PR, V, 7 ¢ PRV,
(A) Q (B) L 13 E,!ﬁ;, (A) Q (B) L
(C) M (D) X A0 ,.ﬁj, (C) M (D) X
(E) Not attempted o “(E) srwnfa

42. Where is the Motilal Nehru Sports School //gfcanun 1 Hideret Ye& Tl wHe wal

situated at Haryana ? o ﬁ’ﬂ 29
(A) Rai (Sonipat) @ A) T (o)

(B) Pataudi (Gurugram) (B) TN (e
(C) Thaneshwar (Kurukshetra) (C) UMY (F8T)
(D) Morni (Ambala) (D) HIGH (faTe)
(E) Not attempted (E) 3rvrnfira
43. Rejupave Technology is related with / ﬁgﬁa qoiles rea ety % ?
(A) Dam construction (A) =19 famtoy
(B) Road construction (B) WS iy
(C) Urban forest creation 0 j' D (C) ¥&l 3 fomior
(D) None of the above .:,g?! (D) S & § 8 7
(E) Not attempted (E) 3trnfeg
-10-
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L CSM - 24
E‘.?.;g
44. What is the primary function of pepsin in 0- T Uiy =1 wafyes w1t T 29
the digestion ? E@%’F@Z ! afafda &
(A) Break down of carbohydrates e i (i ri e
(B) Emulsify fats . :
(C) Convert lipids into fatty acids (C) fafvg =t && wftre ¥ whafda wen
(D) Digest proteins }D) T T I T
(E) Not attempted ) DTSk
45. Select the correct combination of numbers 3Rl @ﬁﬁm 9T a1k qegEn
so that letters arranged accordingly form a e | u a1l SIee 59 9F |
meaningful word. —
T E L S C A
1 ERELTSHE A 1 2 3 4 5 6
1 2 3 4 5 6 Bl E LSCeh
(A) 1,2,3,4,5,6 S () 1,2,3,4,5,6 TE
(B) 4,6,5,1,2,3 '(B) 4,6,5,1,2,3 spCTE &
(C) 5,6,4,1,3,2 (C) 5,6,4,1,3,2 @,ASTZ/E_
(D) 6,5,8,2,4, 1 (D) 6,5,3,2,4,1 ﬂg,L/;’S'T
(E) Not attempted (E) 3Tt
46.  Which of the following city in India was | 46" R = Fr=faRaa & @ frg wet =1 faws
officially recognized as a “World Craft City” Ry dftwg (Sseg, i) g aﬁaﬂﬂ?ﬁ
by the World Crafts Council (WCG) ? w1 q “fava frew W’ & 9§ 2
(A) Jaipur (B) Pune AR ?
. . (A) SR (8) T
(C) Srinagar (D) Mumbai (©) T (D) ga':.‘
(E) Not attempted (E) 39|
47. The volume of a cuboid of length 5 cm, | 47, 5 aft, =erd 3 Aft SR IS 4
breadth 3 cm and height 4 cm is IR I S AT = 27
(A) 60cm®_ . (B) 12cm® (A) 60 T (B) 12 af®
(C) 45 cm® (D) 100 cm® (C) 45T (D) 100 afi®
(E) Not attempted (E) Iwféa
48. Which of the following city hosted the / freferiaa o & form wrex 3 5w gfgmmm o)
Global Partnership on Artificial Intelligence. R % wser (S.du, o) B ﬁf/
(A) New Delhi (A) 7 feeett -
(B) Surat (B) T
(C) Hyderabad %iﬁg (C) e
(D) None of the above EELES (D) Bq?j,’w'?l | wE T - Y\
(E) Not attempted (E) 3Tantée {_x/
-11- A
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[
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50.

51.

52.

N

S

S3.

In a certain code language, ‘134’ means
‘good and tasty’, ‘478' means ‘see good
pictures’ and ‘729’ means ‘pictures are
faint’. Which of the following digit stands
for ‘see’ ? ' 3
(A) 9 RN

(C) 1

(E) Not attempted

(B) 2
(D) 8 /\/Qi

Which is the oldest canal of Haryana ?

A) Gurgaon Canal @JB
B) Bhiwani Canal @k

(
(
(C) Bhakra Canal
(D) Western Yamuna Canal
(

E) Not attempted

Where was the Shanghai Co-operation
Organisation Summit 2024 organized ?

(A) Pakistan (B) Japan
(C) Singapore (D) Kazakhstan
(E) Not attempted

Headquarters of International Solar
Alliance (ISA) is located at

(A) Mumbai

(B) Gurugram

(C) New Delhi

(D) None of the above

(E) Not attempted

Which is the smallest district of Haryana
in terms of area ?

(A) Hisar (B) Bhiwani

(C) panchkula (D) Ambala

(E) Not attempted

e Q)‘\}

CSM - 24

a9, T FafTea s T # “13f) %1 31 ‘good

and'tasty’ @, @% 1 3

pictures’ & 3T @ZSZEFT g ‘pictures
are faint’ 2 | f=fcfaa # @ SH-A1 3

(‘sed) 1 Zamian B 7
(A) 9 (B) 2
(C) 1 (D) 8
(E) Jrwenfea
50. Efmom il Tl [T T8 hiA-H 2 7
/(A){[grfra?a
(B) Tirarh ==x
(C) HrEsT -t
(D) wfzadt TAT e
(E) STuamferd
%@E@nmﬁmmﬂzozwﬁ
! T forar o 7
(A) HTfeREa™ (B) ST
(C) famg (D) HeTTferEam
(E) Twanfeq
52" IS TR TTasie i Exi
- fREE o ?M’K’”?f) nll
() T T "y
(B) T e 1A
(C) T feeeht LA "’%L
() Tt & g ot #0711
E) aWﬁTﬂ - { )
( SUC(HJ-JM
}/éﬁmrﬁgﬁﬁrmwm@a
ﬁwqﬁ?—m% ?
(A) fear (B) fiarh
(C) W=rgpen (D) e
(E) aTraifyg

-12-




o) ¥

,,,,,

CSM - 24
54. 15 women or 10 men can complete g Q‘éﬁ TR 15 tﬂ%?t‘r@ &l i -
project in 55 days. The number of daysc‘ = 55]%(:,*1- i T T E | =t ?ﬁ
> women and 4 men take to complete the \fcr T H ¥ fou 5 afzensi sk PRI
same project is }ZA oy %:{ ol
& a0 ®) ‘00 7 7@56 5 @A) 70 B 100 ¢ xjo b
(C) 78 (D) T () 78 (D) 75
(E) Not attempted j/\lf 4;5’7 2 (E) ST
55.  Ina group of 5 boys, Vasant is taller than /s/agaﬁ * R T 99, TR T e 3
:}Iﬁ;t:)tt;zr bEL)xt trtlotbas, tall as Raju. Jayant is q@ TEL%IFI’—H e TR ?ﬁ‘Iﬁ Y
n
i T Sioane:: shorterth?an Manohar. e 2 q@ T A B 2 g i
in group B w2
(A) Raju (B) Dutta %E (A) T (B) =
(C) Vasant (D) Jayant Ellﬁ.t;ﬁ‘! (C) =Ha (D) ¥4
(E) Not attempted (E) 379=nfyq
56. It 18" March was Wednesday then whtch C A 18T B guEw A, @ 1 0
day will falls on 18 " March ? HH-T fea 2 ? M
(A) Tuesday $i= f’ (A) HTeraR )
(B) Friday \Q‘ﬂ) \ (B) YhaR WM{‘
(C) Thursday /5 {ﬁ W (C) AR 7 Tu r
(D) Sunday 7L \f (D) IEm
(E) Not attempted \ b (E) aTaf
195
57. How many villages are there in Haryana /2011 & SO % AR g § fopany .
according to Census 2011 ? e g 7 t
(C) 6657 D) 6895 @ (C) 6657 (D) 6895 )
(E) Not attempted (E) 3Trmiéa @
@
58. Find the correct option for the mlssmg . [Ee § T HEm (?) = fore @t formen L
number (?) in the series. ﬁ&}"%——)
11,9, 18, 15,45, 41, ? @51 8 1545, 41.(2)
) %M ) 162
(A) 164 (B) 162 A5 (A) -
(C) 158 (D) None of these (C) 158 D) ¥
(E) Not attempted @ I (E) ( ¢ 5/ () \
K == 5 o5 =S¥ A
| r5 -13- \) 5
' AL U \s} 15X
& @ xS o




59.

60.

61.

62.

63.

64.

CSM - 24

- Shron 3 T T T TEE T Fol
Where is North India’s first nuclear power 59 5 . —.
plant set up in Haryana ? A el T P,
(A) Palwal (B) Kaithal (A) gadd (B) '
(C) Gorakhpur (D) Pinjore (C) TTRETX (D)
(E) Not attempted (E) 3T
‘ T 9Rd

India’s rank in global Human E42 . A wre ferehrE Wﬁz
Development Index 2022 is é-‘fj&% 1 T 18 ?
(A) 134 (B) 130 (A) 134 (B) 130
(C) 132 (D) 133 (C) 132 (D) 133
(E) Not attempted (E) 3rsrttér

2 =y g N
If1+2=222+3=36,3%4=412 then qﬁ‘f:é:g B3 =56,3*4=412,d
4+5= / 4%5=
(A) 420 (B) 45 RN (A) 420 (B) 45
(C) 520 (D) 54 N 7 (©) 520 (D) 54
(E) Not attempted g // (E) 3r=faq

|1 '

Merino sheep is originated from 620 TAI g i 3R wal Y BWE?
(A) Spain (B) India (A) T (B) W
(C) Pakistan (D) Bangladesh (C) EIET=ir] (D) Wﬁﬂ
(E) Not attempted (E) 3tu=fiyg
lfa=—21 and b = 3, then the value of '63. qﬁ a=-13N b=3§, QA (a+b)2ih'l
(a+b)“is . T
(A) 4 (B) 16 (A) 4 B 16
(C) -4 (D) 0 (C) -4 (D) 0

(E) Not attempted

How many National Parks are there in
India ?

(A) 1014
(B) 106

(C) 108

(D) None of the above
(E) Not attempted

-14.
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65. The current through a resistor is inversely
proportional to its

(A) Potential difference
(B) Resistance

(C) Electrical charge
(D) Heat dissipation
(E) Not attempted

66. How many numbers between 9 to 54 are

exactly divisible by 9 but not by 3 ?
(A) None (B) 8

(C) 6 (D) 5

(E) Not attempted

67. What s the total area of Haryana State at

present ?

(A) 42232 square kilometres
(B) 46217 square kilometres
(C) 44212 square kilometres
(D) 48219 square kilometres
(E) Not attempted

EI

S

h

E]a‘;

68. Which soil is having pH less than 7.0 ?

(A) Acidic soil

(B) Alkaline soil

(C) Caicareous soil
(D) None of the above

(E) Not attempted

69. InIndian Constitution, ‘Right to Education’

is enshrined under Article
(A) 20 A

(B) 51 A

(C) 21 A

(D) None of the above
(E) Not attempted

-15-
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65 Uk ufaUias § forpa 35k £
A @ |
(NRELEIGT
(B) ufetiy
(C) ferera ammaw
(D) 6T &7
(E) srofea
H 54 < i 1 fpaft Heand o & yofa:
ﬁmm%qxgs@qgi ?
(B) 8
(C)6 (D) 5
(E) ITvamiid
//aﬁmﬁmmmgﬁw
fra 2 2

(A) 42232 =11 ferarndiex
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70.

1.

72.

73.

What is a nested loop ?

(A) Aloop inside another loop

(B) Aloop that runs forever

(C) A loop with no body

(D) A loop with a single statement

(E) Not attempted

The zoo had some lions and some parrots.

The keeper counted 15 heads and 50 legs,
then the number of lions is

(A) 9

(8) 12 R
Ei”.iul

C) 11

(
(D) 10
(E) Not attempted

In Python, which symbol is used to start a
comment ?

(A) /1 (B) \
(C) # (D) -

(E) Not attempted

An electric bulb is connected to a 220V
generator. The current is 0.50 A. What is
the power of the bulb ?

(A) 440 W
(B) 110W
(C) 11W
(D) 44 W
(E) Not attempted
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74. The Hailey (Corbett) National Pagr, L”‘ﬂa's I 1 |l QAT TS Fer, Beh
Idest National Park was established in - S
o (Piele) Uit g fobm ard & wenfig
(A) 1930 fopam e ¢
(A) 1930
B) 1932 =1 4
5 A, (B) 1932
(C) 1936 DR )C) 1936
(D) 1939 (D) 1939
(E) Not attempted (E) 3ty
75. Inwhich city of
IQ s‘;ﬂlltulgtedcl?y of Haryana, Arjun Stadium BT % fory wET # 3?‘3‘:! wfeay
feya 2 7
(A) Karnal (B) Sonipat (A) BT (B) T ?/
(E) Not attempted (E) Iuartag v
)
76. Pick the odd man out. A}G/Hém first g | 1%
(A) Mercury (B) Jupiter (A) gH (B) wrwafa 1Y
(C) Venus (D) Moon (C) I (D) =gHT 3
(E) Not attempted (E) STorfyd /'b
77.  ‘Mera Bill Mera Adhikar Scheme of B TS Y T e S st M
Haryana State is related with I Forad gefig -,
(A) Consumer Protection Act :
}rwﬁm T arffyem -
(B) Public expenditure B EI( KGIESIEE A=) 3]
(C) Income tax %}ﬁ( ) AT & x>
(D) Goods and Services Tax (GST) ) T W N W (Shwmd) 20
(E) Not attempted (E) T5mfia “
5
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78. Ifx;‘?=xT1 then the value of x is ‘/6/?@“-2:—2—1 ,?ﬁxwm% z’ﬁ/
(A) 4 (B) 5 20 3. (4’ (A) 4 (B) 5 3
(C) 1 (D) 3 (‘}7% \ (C) 1 (D) 3 (7 3o
(E) Not attemptedl (E) i . 25 3
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79.

80.

81.

82.

83.

When did the Federal Court of India start
functioning ?

(A) 01 October, 1937
(B) 01 October, 1945

(C) 02 October, 1930 ’
(D) None of the above

(E) Not attempted

Which of the following instrument is used
to measure wind velocity ?

(A) Barometer

(B) Hygrograph

(C) Pyradiometer

(D) Anemometer

(E) Not attempted

How many districts were present at the

time of the formation of the Haryana
State in 1966 ?

(A) 6 (B) 9
(C) 8 (D) 7
(E) Not attempted

L5
Pick the odd man out. %‘-ﬁtﬁl&
(A) Snake (B) Lizard D fabrcy

(C) Crocodile
(E) Not attempted

(D) Whale

What is a file ?

(A) A program stored in Random Access
Memory

(B) Atemporary storage location

(C) A named location on a secondary
storage media

(D) A type of Python variable
(E) Not attempted
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84.

85.

86.

87.

88.

What was the theme of World Children’s
Day 2023 observed on November 20 ?

(A) Imagine a better future for every child

(B) Children of today, our keepers
tomorrow

(C) For every child, every right

(D) None of the above

(E) Not attempted

Which of the following crops are typically
sown during the rainy season ?
A) Winter crops

(

(B) Kharif crops

(C) Spring crops

(D) None of the above
(E) Not attempted

x 16
If —=— then 24y =
4
(A) 16x (B) 24x
(C) 36x (D) 30x

(E) Not attempted

What is the purpose of the ‘break’
statement in Python ?

(A) To start a loop
(B) To pause a loop

)
(C) To terminate a loop
(D) To continue a loop ',‘N;‘%
(E) Not attempted O30

If the simple interest on a certain sum of
money for 2 years is one fifth of the sum,
then the rate of simple interest per annum
is

(A) 10%
(C) 7.2%

(B) 12%
(D) 9%

CSM - 24
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(E) Not attempted
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89. What was the theme of International

90.

91.

92.

Mountain Day 2023 observed on
11 December ?

(A) Restoring Mountain Ecosystems
(B) Mountain Biodiversity Restoration

(C) Mountains and Glaciers Restoration
(D) None of the above
(E) Not attempted

Giri and Tons are tributaries of which river
of Haryana State ?

(A) Tangri

(B) Krishnawati
(C) Yamuna

(D) Markanda
(E) Not attempted

Which encoding scheme can represent

characters from almost all the languages
of the world ?

(A) American Standard Code for
Information Interchange (ASCII)

(B) Unicode

(C) Indian Script Code for Information
Interchange (ISCII)

(D) None of the above
(E) Not attempted

Which number will come in the place of
question mark ?

2 3,5,7;11,13,?

(A) 17 el 0|
B) 18 e

(
(
(D) Noneé of the above
(E) Not attempted

90

C) IH

(D) ATEhET

(E) A9mfdd

93¢ SH-H T=hIfST ThM g i T

aft wwiaTl & Rt = gl =

T IR

(A)%é@mww@m

= (ASCIN)

(B) Afhie

(C) 3fsam fope wie B THrvH
2= (ISCII)

(D) STFd H ¥ s &

(E) iy

S
ELE

(=]
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7+

(=]

92T e % WS- gen sl
2,3,5,7,11,13,2
A) 17
(B) 18
() 13

(D) 39 o & W Tl

(E) atranfag
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93.

94.

95.

96.

The Red Data Book contains a record of
(A) Extinct species

(B) Endangered species

(C) Common species

(D)

(E)

Invasive species

Not attempted

In a mixture containing milk and water,
the ratio of milk to water is 3 : 1, then the
quantity of water in 10 litres of mixture is

CSM -24

@i@m?ﬁﬁ%ﬂwﬁﬁé@m%?
gA)”ngﬁmﬁzﬁ

-
-

(B) Ty wamferi
(C) T y=itea

3TTShTHe TSt
(E) 3Tyt

/go./z@amm:ﬁasﬁmﬁgaaﬁm:ﬁw

A 3: 18, @1 10 ofiex fazor 1 ary <Ry
A fha 8 7

(A) 3 litres (B) 2.5 litres HaE (A) 3¥ix (B) 2.5t
(C) 1 litre (D) 1.5 litres e (C) 1% (D) 1.5
(E) Not attempted (E) Tunfaa
Which is the first novel written in Haryanvi | g5, Bt e # ferat wen veen se=T
language ? FH-T 2 7 PEe=————
(A) Dard-e-Ashoob (A) Eé—Q~$TNE

a i
(B) Sandesa f; = ) ) qﬁg (B) qea
(C) Janan Janan 3;” | (C) S 54
(D) Jhadufiri E : (D) sgfwt
(E) Not attempted [ (E) ITsRMfdr

2

Which of the following State of India has . Tfetea o ﬁw TSI &l IH
awarded with the Geographical Indication RSN Beel % Tt Remirser shedm

(Gl) tag for its Lakadong turmeric ?
(A) Meghalaya
(B) Sikkim
(C) Assam

(D) None of the abo

(E) Not attempted @\/
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97.

98.

99.

100.

Where is the Headquarters of
Mahendragarh district in Haryana ?

(A) Narnaul (B) Karnal

(C) Kaithal (D) Bhiwani

(E) Not attempted

What is the rank of Chief of the Naval
Staff ?
(A) Vice Admiral

(B) Admiral

(C) General

(D) None of the above
(E) Not attempted

What is the main benefit of using functions

in programming ?

(A) Reduces readability

(B) Increases code length

(C) Increases code reusability

(D) Reduces the need for debugging
(E) Not attempted

Which of the following institution has
launched the Sampoornata Abhiyan ?

(A) Reserve Bank of India (RBI)

(B) Finance Commission of India

(C) Indian Space Research Organisation
(ISRO)
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(C) =g sl YA T ST 2
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100. freferfiga & & ferm deen 3§ wrgulan
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